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1
R tHz2% | NS | EW | 2x422% | NS | EW | #1 | #7 |[#1]#7|#1 [ #7 Mean | NS EW
1 N (None|] 5CXW-1 100 5CXW6 650 750 13 NS270 -5 14
2 E | NS 4SE-1 50 3SE3 140 190 5 EW170 6 -1
3| S |EW 3DW-1 100 2NW-1 100 NS40 2 -2
4 | W |Both 4SN5 650 4SN5 650 NS620 1 -1
5| N | NS 5HXS-2 500 4SXE6 790 || 290 7 EW280 -6 11
6 E | EW 6DW7 1390 6NE7 1470 80 2 EW1520 4 -2
7 | S |Both 3NN3 600 3NN4 630 30 1 NS430 5 -5
8 | W [None 6DW-3 150 3SS-1 50 200 5 NS10 4 2
9 N | EW 4HE4 620 4HE-1 100 720 12 EW300 -8 -9
10 | E |Both 4HE4 620 2SS2 110 730 12 EW110 -11 -6
B3 INP|32 |25 8 | 1
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&3+ NP 32 25 :
2 HVP 12.51 7.49
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B# | DL | & Yk MWEE ES R A~ COP Datum
1
¥l 29zmx [ NS | EW | 25z2% | NS | EW | #8 | #9 | #8 | #9 |#8 | #9 || Mean | Ns EW
1 N |None 5HXN-1 100 4HN4 420 520 1 NS270 -9 -4
2 E NS 3SE3 140 2NE3 150 10 EW170 1 -1
3 S | EW 1NE-1 100 1NW1 90 190 5 NS40 2 4
4 W | Both 4SN5 650 4SN5 650 NS620 1 -1
5 N NS 4SXW5 690 5SXE6 750 60 2 EW280 -9 10
6 E EW 6NW7 1470 6NE7 1470 EW1520 2 -2
7 S |Both 3NN5 660 3NN5 660 NS430 6 -6
8 W |None 4DW-1 50 4DW-1 50 NS10 1 -1
9 N | EW 4HW4 620 4HW-1 100 720 12 EW300 -8 -9
10 E |Both 2SS-1 100 2SS-1 100 EW110
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* B IMP 7 23
&3 INP 7 23 16
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B# | DL | & Yk M3 ES R A~ COP Datum
1
R tyze% | NS | EW | &yzu% | NS | EW | #13 | #16 |[#13[#16[#13[#16 || Mean | Ns EW
1 N |None 4HXS5 690 4HS4 420 270 7 NS270 9 -4
2 E NS 3SE3 140 1NW3 150 10 EW170 1 -1
3 S | EW 3CN-1 50 3DE-1 100 150 4 NS40 -3 -2
4 W |Both 4SS5 650 4SN4 620 30 1 NS620 1
5 N NS 5SXE-2 300 4SE6 480 780 13 EW280 1 5
6 E | EW 6NE7 1470 TNW7 2220 750 13 EW1520 2 12
7 S |Both 3NN5 660 2HW-4 400 260 6 NS430 6 1
8 W |None| 4DW4 130 4SS-2 100 30 1 NS10 -4 3
9 N | EW 3NW3 600 4HW4 620 20 1 EW300 -7 8
10 E |Both 4HE4 620 2SS3 140 760 13 EW110 -11 -6
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* B IMP 41 18
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2 3-VP 16.59 3.41
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1
¥l 29zmx [ NS | EW | 25z2% | NS | EW | #2 | #15 | #2 [#15] #2 [#15|| Mean | Ns EW
1 N |None 4HS4 420 4HN4 420 NS270 4 -4
2 E | NS 4SW-1 50 4SW4 420 470 10 EW170 6 6
3 S | EW 1NW3 150 1NW-1 100 250 6 NS40 -5 -2
4 | W |Both 4SS4 620 4SN5 650 30 1 NS620 -1
5 N | NS 5HS-3 300 5SXE6 750 450 10 EW280 -1 10
6 E | EW 6NW7 1470 6NE7 1470 EW1520 2 -2
7 S |Both 1HW-2 200 3NN-1 100 300 7 NS430 -6 1
8 | W |[None 4DW-1 50 2882 110 60 2 NS10 1 -3
9 N | EW 4HW-1 100 4HW4 620 720 12 EW300 9 8
10 | E |Both 3HE4 170 3HE3 140 30 1 EW110 -2 1
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# 3#-VP 17.68 2.32
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1
¥l z9zmx [ NS | EW | 25z2% | NS | EW | #3 | #11 | #3 [#11] #3 [#11 || Mean | Ns EW
1| N |None]  4HN4 420 5HN-1 50 | 470 10 NS270 | 4 8
2| E| NS 4SW4 420 4SE4 420 EW170 | -6 6
3| s |EW|[ 3Nw-3 300 3CN-1 50 | 350 8 NS40 6 3
4 | W |Both| 4sNs 650 3NS6 690 40 1 NS620 | 1 2
5| N | NS 4SE6 480 4SE4 420 60 2 EW280 | -5 4
6| E|EW 6NE6 1440 6NE7 1470 | 30 1 EW1520| 2 2
7 | S |Both| 1NN4 180 1NN5 210 30 1 NS430 | -6 6
8 | W |[None| 3DwWa4 130 3DW4 130 NS10 | -4 4
9| N|EW 2HW4 170 4HW-1 100 270 7 EW300 | 4 -9
10 | E |Both P 1NN-2 200 | 200 5 EW110 | 3 3
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1
Kl z9zmx [ NS | EW | 25z2% | NS | EW | #4 | #12 | #4 [#12] #a [#12 || Mean | Ns EW
1| N |None| 4Hs4 420 4HXN4 590 170 5 NS270 | 4 -8
2| E| NS 4SE4 420 P 420 9 EW170 | -6 5
3|8 |EW 1NW3 150 3DW-1 100 250 6 NS40 | -5 2
4 | W |Both 5SN5 650 4SN6 680 30 1 NS620 | 1 2
5| N| NS 4HN-2 200 4SXE6 790 | 590 1 EW280 | 2 1
6 | E|EW 6NE6 1440 6NW7 1470 | 30 1 EW1520| 2 2
7 | S |Both| 3HW-3 300 3NN4 630 330 8 NS430 | -4 5
8 | W |None| 4Dw4 130 2554 170 300 7 NS10 | -4 -4
9 | N|EW| aHW- 100 4SXN-4 800 | 900 14 EW300 | 9 1
10 | E |Both P P EW110 | 3 3
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1
i tyze% | NS | EW | 2¥zs% | NS | EW | #6 | #14 | #6 [#14] #6 [#14 || Mean | Ns EW
1 N |None| 5DE-1 50 4HS4 420 370 9 NS270 -6 -4
2 E NS 3SE3 140 3SE3 140 EW170 1 -1
3 S | EW 3NW-3 300 2HS2 110 190 5 NS40 6 -2
4 W | Both 4SN4 620 4SS5 650 30 1 NS620 -1
5 N NS 5HS-2 200 4HS5 650 850 13 EW280 2 -14
6 E EW TNW7 2220 7NE7 2220 EW1520( -12 12
7 S [Both 3NN4 630 3NN5 660 30 1 NS430 5 -6
8 W |None 3SS-1 50 3SS3 140 190 5 NS10 -2 -4
9 N | EW 4HW4 620 4HW-1 100 720 12 EW300 -8 -9
10 E |Both P P EW110 3 -3
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&3+ INP 5 41 .
- $-VP 1.29 18.71
5t




4| Nlsg<FrmpEug2e [ 4|« o o
bhi
NS m#® 22 5(R0) 5 T bl 8 1 O NS = % m%#(FC)
EW 3128 #2s3(P0) apie EW Ri7 #45(R0)
B# | DL | & Yk M3 ES R A~ COP Datum
1
Kl z9zmx [ NS [ EW | 25z2% | NS | EW | #5 | #10 | #5 [#10] #5 [#10 || Mean | Ns | EW
1 N |None 4HS6 480 4HN4 420 60 2 NS270 5 -4
2 E NS P 1SE4 170 170 5 EW170 5
3 S | EW 1NW-1 100 2HS-3 150 250 6 NS40 2 5
4 W | Both 4SN5 650 3SN5 200 450 10 NS620 1 9
5 N NS 3NS4 630 3HN4 170 460 10 EW280 14 -10
6 E EW 3SE7 260 6NE7 1470 || 1210 15 EW1520 15 -2
7 S |Both 3NN5 660 3HN-1 100 760 13 NS430 6 1
8 W |None 2SS2 110 3SS3 140 30 1 NS10 3 -4
9 N | EW 2HW4 170 4HW4 620 450 10 EW300 4 8
10 E |Both P 1HE3 140 140 4 EW110 3 1
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B3 5 e 10 PHEAVEN # %
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B VP 20.00
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1
i EHE S NS EW £z % NS EW || #17 | #18 | #17 | #18|#17|#18 Mean NS EW
1 N |None Averagg Averagg NS270
2 E | NS A Averagg¢ A Averagg¢ EW170
3 S | EW A Averagg A Averagg NS40
4 | W |Both A Averagg¢ A Averagg¢ NS620
5 N | NS A Averagg A Averagg EW280
6 E | EW A Averagg¢ A Averagg¢ EW1520
7 S |Both A Averagg A Averagg NS430
8 | W [None A Averagg¢ A Averagg¢ NS10
9 N | EW A Averagg A Averagg EW300
10 | E |Both A Averagg¢ A Averagg¢ EW110
Rt NP
B3 17 Mb 18 M6
* B IMP
& - INP
# HVP 10.00 10.00
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EW 9] a e EW (R0)
B# | DL | & 2B % MEF3E ¥ m%EAA | COP Datum
1
i EHE S NS EW £z % NS EW | #19 | #20 |#19|#20|#19 |#20 Mean NS EW
1 N |None Averagg Averagg NS270
2 E | NS A Averagg¢ A Averagg¢ EW170
3 S | EW A Averagg A Averagg NS40
4 | W |Both A Averagg¢ A Averagg¢ NS620
5 N | NS A Averagg A Averagg EW280
6 E | EW A Averagg¢ A Averagg¢ EW1520
7 S |Both A Averagg A Averagg NS430
8 | W [None A Averagg¢ A Averagg¢ NS10
9 N | EW A Averagg A Averagg EW300
10 | E |Both A Averagg¢ A Averagg¢ EW110
Rt NP
E2s 19 M7 20 M8
* B IMP
& - INP
2 HVP 10.00 10.00
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EW 9] a e EW (R0)
B# | DL | & #% ol 4 L ik REAA | COP Datum
1
i EHE S NS EW £z % NS EW || #21 | #22 | #21|#22|#21|#22 Mean NS EW
1 N |None Averagg Averagg NS270
2 E | NS A Averagg¢ A Averagg¢ EW170
3 S | EW A Averagg A Averagg NS40
4 | W |Both A Averagg¢ A Averagg¢ NS620
5 N | NS A Averagg A Averagg EW280
6 E | EW A Averagg¢ A Averagg¢ EW1520
7 S |Both A Averagg A Averagg NS430
8 | W [None A Averagg¢ A Averagg¢ NS10
9 N | EW A Averagg A Averagg EW300
10 | E |Both A Averagg¢ A Averagg¢ EW110
Rt NP
B3 21 M9 22 M10
* B IMP
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# HVP 10.00 10.00
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B# | DL | & #% MEE M E ik REAA | COP Datum
1
bl Hr2% | NS | EW | 2x25% | NS | EW | #7 | #1 | #7 | #1 | #7 [ #1 Mean | NS EW
1 N |None 5CXW6 650 5CXW-1 100 750 13 NS270 -14 5
2 E NS 3SE3 140 4SE-1 50 190 5 EW170 1 -6
3 S | EW 2NW-1 100 3DW-1 100 NS40 2 -2
4 W |Both 4SN5 650 4SN5 650 NS620 1 -1
5 N NS 4SXE6 790 5HXS-2 500 290 7 EW280 -11 6
6 E | EW 6NE7 1470 6DW7 1390 80 2 EW1520 2 -4
7 S |Both 3NN4 630 3NN3 600 30 1 NS430 5 -5
8 W |None| 3S8S-1 50 6DW-3 150 200 5 NS10 -2 -4
9 N | EW 4HE-1 100 4HE4 620 720 12 EW300 9 8
10 E |Both 2SS2 110 4HE4 620 730 12 EW110 6 11
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* B IMP 25 32
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B# | DL | £ % MEE M E ik REAA | COP Datum
¥l z9zmx [ NS | EW | 25z2% | NS | EW | #9 | #8 | #9 | #8 | #9 | #8 || Mean | Ns EW
1 N |None 4HN4 420 5HXN-1 100 520 1 NS270 4 9
2 E NS 2NE3 150 3SE3 140 10 EW170 1 -1
3 S | EW 1NW1 90 1NE-1 100 190 5 NS40 -4 -2
4 W |Both 4SN5 650 4SN5 650 NS620 1 -1
5 N NS 5SXE6 750 4SXW5 690 60 2 EW280 -10 9
6 E | EW 6NE7 1470 6NW7 1470 EW1520 2 -2
7 S |Both 3NN5 660 3NN5 660 NS430 6 -6
8 W |None| 4DW-1 50 4DW-1 50 NS10 1 -1
9 N | EW 4HW-1 100 4HW4 620 720 12 EW300 9 8
10 E |Both 2SS-1 100 2SS-1 100 EW110
B3 IMP|23 |7 10 | 13
S 9 ¥ 4 8 ZIN R g
* B IMP 23 7
&3 IMP 23 7 6
2 3-VP 15.05 4.95
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B# | DL | £ % MFE ARE ES A%ERE A COP Datum
1
R txzex | NS | EW | 25223 | NS | EW | #16 | #13 [#16|#13|#16]#13 || Mean NS EW
1 | N |None 4HS4 420 4HXS5 690 270 7 NS270 4 9
2 | E| NS 1NW3 150 3SE3 140 10 EW170 | 1 -1
3| s |EwW 3DE-1 100 3CN-1 50 | 150 4 NS40 2 3
4 | W |Both 4SN4 620 4SS5 650 30 1 NS620 -1
5| N | NS 4SE6 480 5SXE-2 300 780 13 EW280 | -5 11
6 | E| EW TNW7 2220 6NE7 1470 750 13 EW1520| -12 2
7 | S |Both| 2HW-4 400 3NN5 660 260 6 NS430 | -1 6
8 | W |None| 4sS-2 100 4DW4 130 | 30 1 NS10 3 4
9 | N|EW 4HW4 620 3NW3 600 20 1 EW300 | -8 7
10 | E |Both 2SS3 140 4HE4 620 | 760 13 EW110| 6 11
3t IMP| 18 | 41 -16 -5
B 16 prime 13 Fx
* B IMP 18 41
£ 3 THP 18 41
2 3VP 3.41 16.59
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B# | DL | £ % MPE 2HE E& 3 R% R A~ COP Datum
1
R tyze% | NS | EW | 2yzu% | NS | EW | #15 | #2 [#15] #2 [#15] #2 || Mean | Ns EW
1 N |None| 4HN4 420 4HS4 420 NS270 4 -4
2 E NS 4SW4 420 4SW-1 50 470 10 EW170 -6 -6
3 S | EW 1NW-1 100 1NW3 150 250 6 NS40 2 5
4 W | Both 4SN5 650 4SS4 620 30 1 NS620 1
5 N NS 5SXE6 750 5HS-3 300 450 10 EW280 -10 1
6 E EW 6NE7 1470 6NW7 1470 EW1520 2 -2
7 S [Both 3NN-1 100 1HW-2 200 300 7 NS430 -11 6
8 W |None 2SS2 110 4DW-1 50 60 2 NS10 3 -1
9 N | EW 4HW4 620 4HW-1 100 720 12 EW300 -8 -9
10 E |Both 3HE3 140 3HE4 170 30 1 EW110 -1 2
@3- IMP| 10 |39 24 | -8
N . )
E 8 15 ¥ fall in 2 ®|p
* B IMP 10 39
£+ NP 10 39 "
B VP 2.32 17.68
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B# | DL | £ % MPE 2HE E& 3 R% R A~ COP Datum
1
i txz 2% | NS | EW | 29223 | NS | EW | #11 | #3 |[#11| #3 [#11]| #3 Mean NS EW
1 N |None 5HN-1 50 4HN4 420 470 10 NS270 -8 -4
2 E NS 4SE4 420 4SW4 420 EW170 -6 6
3 S | EW 3CN-1 50 3NW-3 300 350 8 NS40 -3 -6
4 W | Both 3NS6 690 4SN5 650 40 1 NS620 2 -1
5 N NS 4SE4 420 4SE6 480 60 2 EW280 -4 5
6 E EW 6NE7 1470 6NE6 1440 30 1 EW1520 2 -2
7 S |Both 1NN5 210 1NN4 180 30 1 NS430 -6 6
8 W |None 3Dw4 130 3DwW4 130 NS10 -4 4
9 N | EW 4HW-1 100 2HW4 170 270 7 EW300 9 -4
10 E |Both 1NN-2 200 P 200 5 EW110 -3 -3
@3t IMP|11 | 24 21 | 1
A RN R SR
2y 11 1k 3 I ECPE AR
* B IMP 11 24
&3P 11 24 »
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B# | DL | £ % MPE 2HE E& 3 R% R A~ COP Datum
1
i txzux | NS | EW | cxnz22% | NS | EW | #12 | #4 [#12] #4 [#12] #4 Mean NS EW
1 N |None 4HXN4 590 4HS4 420 170 5 NS270 8 -4
2 E NS P 4SE4 420 420 9 EW170 5 6
3 S | EW 3DW-1 100 1NW3 150 250 6 NS40 2 5
4 W | Both 4SN6 680 5SN5 650 30 1 NS620 2 -1
5 N NS 4SXE6 790 4HN-2 200 590 11 EW280 -11 -2
6 E EW 6NW7 1470 6NE6 1440 30 1 EW1520 2 -2
7 S |Both 3NN4 630 3HW-3 300 330 8 NS430 5 4
8 W |None 2SS4 170 4DW4 130 300 7 NS10 4 4
9 N | EW 4SXN-4 800 4HW-1 100 900 14 EW300 -11 -9
10 E |Both P P EW110 3 -3
@3+ IMP|36 |26 9 2
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* B IMP 36 26
&3+ NP 36 26 0
2 #VP 13.43 6.57
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B# | DL | & #% MEE M E ik REAA | COP Datum
1
i tHz2% | NS | EW | 2x4223% | NS | EW | #14 | #6 |#14] #6 |#14] #6 Mean | NS EW
1 N |None 4HS4 420 5DE-1 50 370 9 NS270 4 6
2 E | NS 3SE3 140 3SE3 140 EW170 1 -1
3 S | EW 2HS2 110 3NW-3 300 190 5 NS40 2 -6
4 | W |Both 4SS5 650 4SN4 620 30 1 NS620 1
5 N | NS 4HS5 650 5HS-2 200 850 13 EW280 14 -2
6 E | EW 7NE7 2220 TNW7 2220 EW1520 -12 12
7 S |Both 3NN5 660 3NN4 630 30 1 NS430 6 -5
8 | W |[None 3SS3 140 3SS-1 50 190 5 NS10 4 2
9 N | EW 4HW-1 100 4HW4 620 720 12 EW300 9 8
10 | E |Both P P EW110 3 -3
B3 IMP|41| 5 32 | 1
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+ B IMP 41 )
&3 IMP 41 ) .
2 HVP 18.71 1.29
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1
Kl 29zmx | NS [ EW | 25z2% | NS | EW | #10 | #5 |#10] #5 |#10| #5 || Mean | Ns | EW
1 | N |None]  4HN4 420 4HS6 480 60 2 NS270 | 4 -5
2 | E| NS 1SE4 170 P 170 5 EW170 -5
3| s |EwW 2HS-3 150 ANW-1 100 250 6 NS40 | -5 -2
4 | W |Both| 3sN5 200 4SN5 650 450 10 NS620 | -9 A
5| N| NS 3HN4 170 3NS4 630 460 10 EW280 | 10 14
6 | E|EW 6NE7 1470 3SE7 260 1210 15 EW1520| 2 15
7 | s |Both| 3HN- 100 3NN5 660 760 13 NS430 | -11 -6
8 | W |None| 3ss3 140 2552 110 30 1 NS10 | 4 -3
9 | N|EW 4HW4 620 2HW4 170 450 10 EW300 | -8 -4
10 | E |Both| 1HE3 140 P 140 4 EW110 | -1 -3
@3 IMP| 1 |75 14 | -58
v» [[10  PHEAVEN&3 | 5 T
* B IMP 1 75
&3 NP 1 75 7
2 3VP 20.00
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sw w0 18 (Table 9 | 17 o,
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EXE B NS | EW | 29223 NS | EW || #18 | #17 |#18|#17|#18 |#17 || Mean NS EW
1 N [None NS270
2 | E| NS EW170
3|8 |EW NS40
4 | W |Both NS620
5| N| NS EW280
6 | E|EW EW1520
7 | S |Both NS430
8 W |None NS10
9 | N|EW EW300
10 | E |Both EW110
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EXE B NS | EW | £xz 23 NS | EW || #20 | #19 |#20|#19(#20|#19 || Mean NS EW
1 N [None NS270
2 | E| NS EW170
3|8 |EW NS40
4 | W |Both NS620
5| N| NS EW280
6 | E|EW EW1520
7 | S |Both NS430
8 W |None NS10
9 | N|EW EW300
10 | E |Both EW110
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gH2¥3 | NS | EW | &x3283% | NS | EW | #22 | #21 |#22|#21|#22(#21|| Mean | NS
1 | N [None NS270
2 | E|Ns EW170
3|s|EW NS40
4 | W |Both NS620
5| N| NS EW280
6 | E|EW EW1520
7 | S [Both NS430
8 | W [(None NS10
9 | N |EW EW300
10 | E |Both EW110
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